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Read thefollowing instructionscar efully befor eyou begin to answer thequestions.
IMPORTANT INSTRUCTIONS

1. This Question Booklet is divided into three Parts—Part—I, Part—Il and Part—I11. Part—l contains questions of
Language (Qualifying), Part—II contains questions of General Studies and Part —I11 contains questions of
Chemistry.

2. Part-l, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English L anguage consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
L anguage consists of Question Nos. U-9 to U-30 and Bengali L anguage consists of Question Nos. B-9 to
B-30 (Students are required to choose the questions from any one language out of three languages). Part-I1
consists of Question Nos. 31to 70 and Part-111 consists of Question Nos. 71 to 150. (the questions and their
responses are printed in English and Hindi versions both of Part-11 and Part-111)

All questions carry equal marks.

4.  AnAnswer Sheet has been supplied inside the Question Booklet to mark the answers. You must writeyour Roll
Number and other particularsin thespaceprovided in theAnswer Sheet, failing which your Answer Sheet will
not beevaluated.

5.  Immediately after commencement of the examination, you should check up your Question Booklet and attached
answer sheet and ensurethat the Question Booklet Seriesisprinted on thetop right-hand cor ner of the Booklet
and the seriesencoded in answer sheet aresame. Also please check that the Booklet contains48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet havedifferent series. If you find any defect
inthisBooklet, get it replaced immediately by a complete Booklet with OM R sheet of the same series.

6. You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

7. Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

8. Inthe Answer Sheet, there arefivecircles- (&), (), (O, (D) and (E) against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
guestion. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated aswrong. Use Black/Blueink ballpoint pen only to
mark theanswer in the Answer Sheet. Any erasureor changeisnot allowed.

9. If thereisany sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
guestions, the English Version will be treated as standard.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet tothelnvigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

12. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.

E-1. Whyis Kerala just the place for you if you

love variety ?
(A) There is something here to please
everyone

(B) Kerala has magical backwaters
(C) Keralais veryboring

(D) More than one of the above
(E) None ofthe above

E-2. Why should you take a trip to the spice

gardens in the hills ?
(A) To count the spices that are grown
there

(B) Tobuysome spices

(C) To inhale the fragrance of fresh
cardamoms

(D) More than one of the above
(E) None ofthe above
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E-3. Whatis Kerala's cuisine known for ?
(A) Forits bad taste
(B) Forbeingbland
(C) Foritsspicy hot flavours
(D) More than one of the above
(E) None ofthe above

E-4. What gives sea food its pungency?
(A) Coconutand spices
(B) Coconut & spices enhanced by
tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None ofthe above

E-5. 'Why would foreign bargain-hunter visitors

never face a problem in Kerala ?

(A) Many foreign languages are spoken
in Kerala

(B) Hindi is the language of
communication in the cities of kerala.

(C) English is spoken and understood
everywhere in Kerala.

(D) More than one of the above

(E) None ofthe above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a', 'an', and 'the":
E-6. Ifyoureach Airport on time, you will

catch the flight.
(A) a

(B) an

(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Youshould go for early morning walk.
(A) the
B) a
(C) an

(D) More than one of the above
(E) None ofthe above

E-8. If 30™ April is Tuesday, what day of the
week would be 10t May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None ofthe above
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(Hindi Language)

frafafea smfea o & onem )y €. H-9 H-12. @ 3R 31/ smoa d = o ?
A H-14 9% & Y9 & S @ oe |

T 3R 9T Tk § Tt o B 9 | WA W o1 3R (A) 2=

T &Y | T T greRt off uen ® A o | |t forern

IHH AER B TOH T4 & | 36k feradi a1 sga Aewe B)  fachtawa

o7 | UEH & Tt WeH-Red SR SgEen # it 7

ST o1 | T iR ot faeht 2 O | safeTe WA s (C) w§

I BT B o o ToT0 Terg Tan o | 31T Prereri ht .

AT T T AT | Teh IR T & TR gt ST 91T T (D) Sudea H ¥ U W frw
o1 | T A gt 3TSTT hl UehAT <TRT | 3 8 § Teh HIeX ‘ ‘

3 sy g o | (E)  3udert # | g T

H-9. @7 Sigem 3113 hl &1 Uk ARl ?
(A) YO ST O R I A1
(B) ¥ 3iR 3T1a U & Whet ° Ugd A
(C) Toh =R T @ TR ekt 3o/ |1 T 1 (A) T &t gk 3 o
(D) ude & U A aAfew
(E) Sugea @ g T

H-13. @it iegreh W 8 RN @ @a 2 ?

(B) @ % ufisrdt g SR

(C) a7 & SAER & HRUT
H-10. T 3 Tl A3 B F7 o 10 1 HeATg <l

o ? (D) SudgE H W TH A AlH
(A) Taeh S B o wwo (E) 3ugemd @ g g
(B) o TRt H UG o Bt
(C) g 3 HRT
(D) Suge @ A U A aferh H-14. 3o frm s 8 st o o o ?
(E) 3ugeta e T8
(A) wEr=AH
H-11. @A FATIH AT ? (B) ue#
(A) =
B) Wi (©) ==
(C) wwzrER (D) Sudea d AU A ek
(D) Sudwd o @ TH | afen
. . E) suwgwua i
(E) suge i@ & ®) e
EEE
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frefefen orafes ot & omem | = |. H-15
@ H-20 9% & 9%l % I & 9/ |

forarsit wa o wEr R H | U 9 | S 32y WERn
A9 % 3299 | off 3= A1 | I AU HE H o @ 1S
SheTel AR €1 T8, Sfe<h Ueh 3Te0 ToHITaR Wit & | 32 wt
T ek T <Y T IR & SR TRreT T T i | 3
FR 775 A A ofi TR o o IR FER o SR FA A |
3Tk 3T TUT 3 HRUT At T ITHT SR FA A | TH
T ot 3Tk Stie A ren ot =nten |

H-15. PrechdRgR %@ siRFn e ?
(A) T =B TeHitan
(B) o3 feems

(C) FwwTmE
(D) 3o & A 0 A arfeen
(B) IgwmARARE T

H-16. TraTsh 3 T § hiq € Hiamn Sd ?

A) fegE®

(B) wwugH

(C) Hd

(D) Sude W UH A AR
(E)  Suer s & g

H-17. PEcfidR ?
(A) RA 1 TSR Figl
(B) WRA % AgH AR | ¥ Uh
(C) et i g HHTg
(D) SudwH A TF & stfem
(E) Iwgwda s
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H-18.

H-19.

H-20.

H-21.

H-22.

GET IT ON
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i foTestt o s A Ha A ?
(A) 3R iRel & HwRT

(B) wRREgEIHHR®
(C) 3% 37T TUIl % HROT
(D) Sudewd AU A Afere
(B) Sudwd & =g 7

T TR 975g ot 31 B -

(A) =g Hifa e v w5 deer g g
(B) @ Hifa e vrem o dereE g g
(C) Tt & wrateera Hife

(D) 37 & 4 T @ wferch

() Suger & | g 7

T STUfSa Terion 1 iR 2 —
(A) Toramh S s s
(B) Trash =t St

(C) Torarsit =t R

(D) 37 & 4 T @ wAferch
(B) Sudwad @ e

T SATeRaT A R —

A =@

(B) wim

(C) w=aA

(D) Sude © AU A 3l
(E) Sudwd & = T

U IAHYEY T 8 -

A) #

B) 1

C€) =

(D) Sude AU A Al
(B) Sudwd & =g 7
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H-23. ‘oM Wi T8 o | arer § fore wnen it o H-27. s yg o g -

TIHEIAE ?

(A) IUEFHRS

(B) warusR

(C) atfermun Rk

(D) ST A T @ o

(E)  Suefert # & g &

H-28.

H-24. @9 acan vise @ -

(A) s=n

(B) =

(C) <

(D) v A T @ o

(E)  Sudert # | g T

H-29.

H-25. s qg e @ -

(A) Froeh

(B) swureR

C€) wE=

(D) SUde H W UH © AeH

(E)  3uert # | g T
H-26. 3 ‘S’ vrea o Farrfrenehen vrsa & — 30

(A) e

(B) owem

(C€) "=

(D) Sudwa# O uF | AfIH

(E)  Suert # | g T
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(A)
(B)
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(D)
(E)

fereft oft amrert 1 St 1

T W v A

I THieIT 3Tk WIS Tehe il ¢
U § | U A iR
IugeR W i T

T ‘WA’ I1eq h1 UITHETE IIea @ -

(A)
(B)
©
(D)
(E)

S

4
arit

Suefer § A U A T
UG A A S T

‘Sl et 1 frera gt arerEuE % o U
e R -

(A)
(B)
©
(D)
(E)

o
v

e

e § A T & e
I | BRI TE

‘@eTE W Ul HEreR o A E -

(A)
B)
©
(D)
(D)

A H TS

< o

foret s
Suder § § U W s
Sug o 9 B T
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(Urdu Language)

0ol LT S
LLuiz A
LLuly (B

Llus  (©
Mell e ilhe” (D)
S e (B

IS LA UG e 2T
S U1y
£ @)
o’ (B
uéf,y ©)

Sie K Sl (D)
S Uit (B)

K g B e U 0
oW
Jer )

SeH @)

Ze (©)

Sie K Sl (D)
S Uit ()

=¥ ()
- (B

£ ©

S Ll Sl (D)
S Ui (®)
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.U-11

U-12

.U-13

.U-14

2 e St d e Pl S K2
SELUF e et Gt 1LB0% gt
P S TR U
cLHSUFE Ue e Gl S
bl Ul b bigttid s O
Sl ) £ sl o
SO Tl e Pt U - e (s
e O

DA T AT e ST
KT A5 S L U e U
e (I’”Jf@f’g,ﬁ/m_»,g:w/ui.ti@!_%wdgs
JSb Kf;‘%tﬁg‘. éf«g}:—uhé%é%
! («u,;,,ﬁ,cg‘;,‘/Lu,jif@u’,,,ﬁ@_‘é;m

EXIIN S SUPN AR )

5 (A
= ()
#6  (C)

e L J0e” (D)
S Uit (®)

GIEEL A ESS U-10
K2 (A)
ke 2 (B)
K G (O
e L JiUe” (D)
S e ®
L5
=
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S Guitgg e DTt U-17 Sl LG TSt B

;u%uué;gjm (A) ‘_‘L&?ﬂ%&q}uﬁu&guk_Jﬁl;'é_,,l‘fgplé_
= loile B z " e .

® ®) d/k:/}b/':ug»{iu: lpd}b”.’.’u@/’uj/ﬁd/d_l@(

e lwdle  (O)

fiefle Fl” D) i L Sl E izl

S e (®) STt o = yit.K

f\Rbi P Qe & U8 -
C Lu,} (A) Jfg/fjéégﬁé%gzhfuf"&f)ﬂy'

Lk (B &gLu,//,luy,umu;!sg?ung)ﬂc}

LLt © UUlea LA U bl P

S Ll il (D)

% SASUL bl A1t st
S vt (B ‘ T

9 T8l Qe ot Ui U

m}uufugﬂdm{umwujw 2U-19 S5t ton
‘Ut Qb
Uil (A)
Uit (B) ?‘Ld/;/ggj.éoféd/l. .U-15
uE(© ®
Hie L fler? (D) d (B
Uﬁfd/f—d:m*") (E) I (C)
S ULUULI Sy U020 N L Sl (D)
U (A) S S (B)
Jik - (B)
Uit (©) .
MLl Sk (D) QAL U ZUle - ”’U}’&Mdf -U-16
S Ui (®) fe ol
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e (A U/ﬁt"é (B)
o5 (B) =i (O
S (C) ikl e e (D)

Sie K Jille” (D)

% e e (E
e i (®) e UV (E)
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(Bengali Language)

e (B-9 (3t B-14)

FERIAR ol 72 FRew Ao, T8 @1 @l
2300 I #Ale, S oves fee a1 | fofq e gl
forem, 93 wife gl 223ifete, @8 =HS 3R
TR a8, SRl 72y 283 41 | (19 Fe Jian 7120,
SR (14 e ToifFe 236 | @3Te T [ere 230e
kAW NPT ‘@, 2 (R Sse ©iRid «ics forifs
A[BNCR; TS S 377 712 2ile 2303w, eARieces
B (e ARt @R o SmETed 47! #iEEe |
FLIIL A SR AT 2ABCFCE ST e, fofe
TR 2 FAW T2 A IO FOICH G F® 230 |
FPIRAM ST, TP SR T AT e |

TS TR el SRR PN ARFCP A,
“@ il [NRICe, wiRIte (ost Wi 6 2303 2 SieME
«Q IS S SN I 230 1 | S ST
23AMZ | O SN €3 72 (T, JLRAN O SR
erorial T T O A (F T 2 (7 AT, ORI @
e (& TH IR (F9 AN oo | el
S @B S FICE S G0 o1 a-wfzea
I IR 0L BRI |7

F AR OIS ©7 (@5 @R ff A=
forera 7 fetaw | AR St mieiew 23ce, fofq
AR Sreits Abemifetem @, T fam T SeE
S F9, SN AN MO IO (ONE AR |
AT e OIRTe el 22t | AR
I A g g Wi Az Ffce v | s
QS g FTS AT 230 BIfRA 7124 | G230l
Tl 1 Afern FiRIAR Sl (7 ARRY &2t SRl
22N | FRAFINCER Wi &1zl SrRIfeerd 22w e (7
I 829 |

F A e JRTS AT Fi2 ([, St
G YN ZIACZA | 7 (R SIS
e 2305 | SR FFIAR o], TEHCF SR IR
ol pifereted, RA SRe Fox 230, AT,
‘SN it e, S 6 2 SsiaE TR A,
o wizE 17
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AN el e, Ny sy, e
1A 3ZeT | e ST 20O T Wwtad g2l
T o 23300g; Sredd AT @F NS A
SfEIfF 2303 | Sl OIRIE @RE, Do S
B OIZICE T SR, G2 S o1 | iisifer @2 i
FeE Ffcers fil e wface 21 1”

N G A, SN SN2 @0 *iofel
Ffacely, S FGANCE Ao FU Af4F Tg I |
I AR @ A F2A; SAioife ey T 17

ST FAT T IR | SRE G M 9% oiwed
GG SFIeE T @l e | 2 @R s AR
FfATeT, 3 = e =1 | I A SRS [/
TR S IR (F, G0 S 902 5o | 2T
UL T 2305 SIPCA | TR ol (@ o2,
(1 MRS eTo- e MRWREN SR (2 20 bt
2 | @=FCel SF wifm 12, oI W (T SRFNE T2 |
el ol BT 7S 230 | FL A, A @
SR SIS TRy e 127 (oICe |

fofe Sifewrs Ao Hfseon sz e
TSI QI T 239, SEUcae OiRid Yy 234 |

ToRE A F AF AREACE O
Toifere wE (reRce | e ik qifermt aferat
SR e Aibice @3l A0 Meem 1, =94 9tz
AR | FCAFT ACEF, AT e (@5 =@
SR S SN &y Tg AR, g i
I R S, ifi aREE s Tonm I3,
IR FGIReN Tovd SR | FIMLIAGH GFHCE
IS AL T 230e | FIRIG TR AR
T5ifeq TQRE FRCO A0 |

Fifs AR @z | e S g TareE
(IS AETRANE ©I2F @3 foe | fofd fKitapal s @,
AN @z erereife @t fres, wifs o W 363,
G (FZ O 2 | S« (I A, TR [rama
faat Kz 2o 2309, ©@ oRiF @ | @ee @7
Tl 14 | 92 eI I 1] FiFiaR [aites
(I Trwlal < RN, ORI CEHC (S TR |
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B-9.

B-10.

B-11.

R el (& g2t 23 ifRce 2

(A) r=E =P I se

(B) = e =l

(C) =T e e @ zew

D) TR Ty A (AT T

(EB) Tz @b

FIFIL A (T A O FOIF ToifZe
230 2

A  FRER R @[ N

B) A GEICS

(C) Pfetm sy

(D) ToASealer N AiFa (A Al

(EB) ToiEE @ T

AT el FAINL 77 I [ o
IRt 2

(A) = A=y

B) T TY (e

(C) TR a=

(D) ToASealr N AiFa (A AT

(EB) Tz @b
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FFIL A & AR [ACEd Swpisl
el OIRICs e IR ?

(A)  ETREIE S oeF foe

(B) e sifeez! s

(C) ToR® oiig 1 e

D) TR Ty A (AT T
(B) ToAtEa (@Ieaig w1

TR TS (@ IR A7 502 SR
FACS S Z30E 2

(A) <=E iy 79 26

B) AR SRR

(C) Dl ey

(D) ToACealr N AiFa (A AT
(B) ToiEE @A

FIRIIIY A & FAAT Toifeq g
fate sface wifarcere 2

(A)  PICETF AR A

(B) A« SECArcH

(C) ifa Fhifdele woyz S =1 fcasa
fa

D) TR Ty A (AT T
(EB) Tz @b
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S FEAZ |

S FfeAT— W, SF-FRS B I (ORI
ST 30 A1 2

7 iz —4w w3 2ol w7 @ ey Aea
[ N O €OIF S2R_TE MiRTe AT

A S g qeARd "eT [l oS
Rl Ffee—eael, ggfon W9 @R (ORI VA
COI-G] 2T [Z | 22 (Y A T DA (R
CSINITRE SIFCaa 24l s[eilfy |

e wfew ot e —odfie A== Tred
TP F(F ORIAR SNE ©F |

AN FEE— e 0o wEsl IR, FTR
GFB! A (RS TS 2 | S GOl TS
Aol Wam AFe godid I OF CRIRTS 3w
AE G5! 4TS 2T Tofurad w2 ¢ I @
93T 29w FRACR, G (SN FHAL Al FEAAZ |
ify e Aiee sibees s ffm aifmile, am
TG SRpTS FCEN O AT FEH-SINF T SI51
IR w2307 |

35S AT FZET— (T i AN, (F74F
3R AT ([ TAE (1E002 Felfe F=0R=E-gfil 2val
JferE Afes =1l | (@ AT Afee waalfd e core |
foe wxifs wfn wifavgss Sifgpcia St G- JoreR
SIS FIAT 2€ T O (6! (O (1 Freifs
TR NCAIZIACH FT T 1 | (FTF R (IO TI518
@izl eI, ST | (2 BRI, AT e
12 R4 39, (T S-S CISEFF (G, S
B R AT (TART TF 237 G N |

(I G0! 7lf72 e (6B FRe, FRFA—aF
(O 7 WLE %, O THH AIFAH 2306 FIOR
AT T 2 AL RwoF |
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(GENERAL STUDIES)

Which of the following is the value of

(x+1/x)* ?

(A) x>+ 17

B) x*—1/x?

©) x¥*+1x* +1

(D) More than one of the above
(E) None ofthe above

An article is at 10% more than the CP. If
discount of 10% is allowed then which of the

followingis right ?
(A) 1%gain

B) 1%]loss

(C) nogainno loss

More than one of the above
None of the above

D)
()

By what number should 81 be divided to get
a perfect cube ?

A) 3

B) 6

<© 7

(D) More than one of the above
(E) None ofthe above

The difference between two whole numbers
1s 66. The ratio of the two numbers is 2:5.
The two numbers are ;

(A) 60and6

(B) 100 and 33

(C) 110and 44

(D) More than one of the above
(E) None ofthe above

In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.

(A) 30°

B) 45°

(C) o60°

(D) More than one of the above
(E) None ofthe above
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36.

37.

38.

39.

40.

The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm? s :

(A) 15cm

B) 17cm

(C) 19cm

(D) More than one of the above
(E) None ofthe above

If (-3)™*! x (=3)°=(-3)’, then the value of m
is:
(A) 5

® 7
© 1
(D) More than one of the above

(E) None ofthe above

Ifx and y are inversely proportional, then:
(A) y/x=constant

(B) xy=constant

(C) x/y=constant

(D) More than one of the above

(E) None ofthe above

A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combinationis R', thentheratioR/R'is

(A) 1725

B) 1/5

(©) 25

(D) More than one of the above
(E) None ofthe above

An electric heater of resistance 8 QQ draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) More than one of the above
(E) None ofthe above
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(A x>+ 1/x2

B) x*—1/?

©C) x¥*+1x* +1
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Qe ol IgAfa g Al Frefefea A a s wadi @ 2
(A) 1%

B) 1%zf

(C) FAcmuagm

(D) 3o & AT A arfeen

(E) Sudwd & =g 7
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forn ST =nfRu 2
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<o 7
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(B) Suger # & hig &
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1 U 2:5 3 | I TEAm E

(A) 6036
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(C) 110 iR 44

(D) Suge A TH A Afw

(E) Suder® & g &

Tk TR Tgs ABCD #, %ot A 3iR <ot B
31U 1:2 2 | 1ot A 71 <hifeTe |

(A) 30°

B) 45°

(C) 60°
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(E)  vofer & & g i
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(B) 17

(C) 193w

(D) 3w & A0 A arfeen
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R (3)! x (-3) = (3), A m A AR E?
(A) 5

B) 7

© 1
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e x 3y SR &, :
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41. Which of the following lenses would you 46. Which one of the following types of medicines

prefer to use while reading small letters found used for treating indigestion ?

in the dictionary ? (A) Antibiotic

(A) Aconvexlensof 50 cm (B) Antacid

(B) A concave lens of 50 cm (C) Analgesic

(©) Aconcavelens of 5cm (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None ofthe above

47. Thetask of processing citizenship applications

42. Thehuman eye forms the image of an object under the CAA will be undertaken by
atits (A) Postal Department
(A) Cornea (B) Census Department
(B) Irs (C) Central Security IB
(C) Retina (D) More than one of the above

(D) More than one of the above (E)
(E) None ofthe above

None of the above

48. In which of the following country India

43.  Which of the following is not a part of the launched its UPI ?
female reproductive system in human beings ? (A) Thailand
(A) Ovary (B) Myanmar
(B) Uterus (C) Mauritius
(C) Vasdeferens (D) More than one of the above

(D) More than one of the above (E)
(E) None ofthe above

None of the above

49. What is the name of space craft to be

44.  The anther contains launched by ISRO in 2024 to carry
(A) Sepals astronauts ?
(B) Ovules (A) Akashyan
(C) Pollen grains (B) Gaganyan
(D) More than one of the above (C) Bhramyan
(E) None ofthe above (D) More than one of the above

(E) None ofthe above
45. Asexual reproduction takes place through

budding in 50. Which country is nota member of G 7 ?
(A) Amoeba (A) Russia
(B) Yeast (B) Canada
(C) Plasmodium (©) USA
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above
EHE
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(E) Sudwd & =g 7
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(A) =t

(B) uftaem

(C) grRuew
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e i a SR AR SR T R AT AE g ?
(A) st o
(B) YA
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(D) Sude A TE A 3l

(B) Suger & 8 hrg T

(C) TR
(D) 3o & A U A arfeen
(E)  vofer & & g i
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(A) orfen#

(B) dred

(C) vwremfzamd
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(B) Suger & 8 hig T

13/HV/M-2024-15/HS-515-E

17

46.

47.

48.

49.

50.

GET IT ON
Google Play

AU o IUER A o foTu fFnm o | form itaferem
ST AT R ?

(A) ufifes

(B) ufdsma

(C) dised

(D) 3o & A0 A arfern

(E) Suderd & g &

CAA & 1=t AnTiehan Tfsken o fote smaea e
Freuren form o gt feman SR 2

(A) =EfawmgR

(B) <o fasm gr

(C) i geen .. gr

(D) Sude AUk A Al

(B) Suger # & hig &

e o @ form 3o 9 wra A oA UPT =ine feren
27

(A) uEeE

(B) wmwr

(C) wwm

(D) Sudea ® A UF W 3k

(B) Suger & & hig &

T g 2024 ¥ siaker At Al 99 ae
STANEIT 1 911 2

(A) AHPEE

(B) wmEm

(C) weEm

(D) Suge | W UH | AR

(B) Sudwd @ =g 7

FWMWMG T AT TR ?
(A) T
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The process involved in achieving Green
hydrogen is

(A) Electrolysis

(B) Dehydrogenesis

(C) Dehydration

(D) More than one of the above

(E) None ofthe above

Which technology can be used to revise

deceased individuals ?
(A) Deepfake
(B) Al

(C) Chatbot
(D) More than one of the above
(E) None ofthe above

In cost of living index parameter 2024 which
country is better than India ?

(A) Nigeria

(B) Pakistan

(C) Bangladesh

(D) More than one of the above

(E) None ofthe above

Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) BirsaMunda

(B) Rajendra Prasad

(C) SatyaNarayan Sinha

(D) More than one of the above

(E) None ofthe above

Which is the moon-like planet ?

(A) Mercury
(B) Mars
(C) Earth

(D) More than one of the above
(E) None ofthe above

On the basis of fossils which is the origin place
of man ?

(A) RiftvalleyofAfrica

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None ofthe above
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In India dry point settlement is found in
(A) Flood prone area

(B) Bikaner

(C) Aravaliregion

(D) More than one of the above

(E) None ofthe above

In which district of Bihar Paddy crop

production is maximum ?
(A) Bhojpur
(B) Rohtas

(C) Nalanda
(D) More than one of the above
(E) None ofthe above

On which mountain is Tehran situated ?

(A) Alburz
(B) Zagros
(C) Makran

(D) More than one of the above
(E) None ofthe above

The highest peak in the Eastern Ghats of India
is:

(A) AnaiMudi

(B) Kanchenjunga

(C) Mahendragiri

(D) More than one of the above

(E) None ofthe above

Which of these statements is not a valid reason
for the depletion of flora and fauna ?

(A) Agricultural expansion

(B) Large scale development projects

(C) Grazzing and fuel wood collection

(D) More than one of the above

(E) None ofthe above

Inwhich district of Bihar silk textile production
is maximum ?

(A) Madhubani

(B) Bhagalpur

(C) Aurangabad

(D) More than one of the above

(E) None ofthe above
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(A) e guen

(B) TR
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(A) T

(B) W

(C) uet

(D) Sude W UF | AfeH
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SHETYH o HTR T A Icdf g hiA-HATE ?
(A) arshreRt < e arél

(B) weawivmEn

(C) <&Te™

(D) 3o & A0 A arfeen

(E) Suderd A whig &

13/HV/M-2024-15/HS-515-E

57.

58.

59.

60.

61.

62.

GET IT ON
Google Play

e 8y formg aeht freelt 2
(A) =rgeEid

(B) R

(C) el wew

(D) 37 & 4 T @ wAferch
(B) S a el

forer o form ot © o o1 SeuTeR TaTieeR gan 2 2
(A) AR

(B) dgam

(C) -

(D) Suded H HTH A aferh

(E) suger & whis T&

agH fra uda w feema @ 2
(A) TEgH

(B) wiw

(C) v

(D) Suge | W UH | AR
(B) Sudwd & =g T

WA < i u1e il ga@ S= = g -
(A) FEGE
(B) e
(C) wesfR
(D) 3o # A 0% A arfeen
(E) 3udead @&
TR | AT HYA Tt IR el <l e
AU HRUTTE R ?
(A) qafﬁmﬁma
(B) Fee tuH W AsTIa o o
(C) =oTE 3R AT il TAehg) i Uehefierur
(D) 3o o A0 A arfeen
(E) Suderdi & whig &
forgr o form et ® Yomdt o =kt IcuTea weTieeR
qrag ?
(A) wgs
(B) wweTqR
(C) sirmamg
(D) 3o & A0 A arfeen
(E) Suderdi & g &
[=]45[=]
= [P.T.O.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

7

63. Who was the viceroy of India during the 67.

Jallianwala Bagh massacre ?

(A) Lord Curzon
(B) Lord Chelmsford
(C) LordIrwin
(D) More than one of the above
(E) None ofthe above
68.
64. The first President of the Indian National
Congress was:
(A) Dadabhai Naoroji
(B) W.C.Bonnerjee
(C) Badruddin Tyabji
(D) More than one of the above
(E) None ofthe above
69.
65. 'Who among the following is also known as
the Grand old man of India ?
(A) Bal Gangadhar Tilak
(B) Dadabhai Naoroji
(C) Gopal Krishna Gokhale
(D) More than one of the above
(E) None ofthe above 0.

66. Which of the following movements was
started by M. K. Gandhi ?

(A)
B)
©)
(D)
E)

13/HV/M-

Quit India Movement

Non cooperation movement
Swadesi movement

More than one of the above

None of the above
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Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel
(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above
(E) None ofthe above

Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above
(E) None ofthe above

Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B) Anugrah Narayan Sinha

(C) Jai Prakash Narayan

(D) More than one of the above
(E) None ofthe above

The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad

(B) Jai Prakash Narayan

(C) Swami Sahajanand Saraswati
(D) More than one of the above
(E) None ofthe above
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(C) g
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(E) Suder® & whig &

64. TR THE HIF & UgA ATA L
(A)  FrErTE AR
(B) =1 W <l
(C) =eEan deaastt
(D) 3udaa # 9 U A AferR
©) i dwd

65. FataRaad @ fraent fue tiee 87 st siear’
F Y TS ?

(A) s TmER foeren

(B)  ara W ARht

(C)  TMuTe T TS

(D) Sudera ® 9 U A AferR
(B) S| e

66. frfeiRaa & & i W NS TH. .M gRIIE
e ?

(A) WRABIS R

(B) @A e

(C) eyt argrerm

(D) s # @ wh A afrs
(B) Sudwd & =g 7
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PART - III
(CHEMISTRY)

The critical temperature value obtained from 74. Which of the following is a network solid?
van der Waals equation is

A) CCl,
(A) a/Rb

(B) NacCl
(B) 8a/27Rb

C) SiO

(C) a27b2 © ?
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above
The RMS velocity of oxygen molecule in the 75. What are the possible variations in the
lungs at the normal body temperature, 37°C tetragonal system?
(given R=8.314x10") is o

(A) Primitive
(A) 4.92x10*

(B) Body-centred
(B) 6.63x10*

(C) Face-centred
(C) 16.6x10°

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above
Which of the following statements about 76. Which of the following species is

crystalline solids is false?

(A) Definite geometrical shape
(B)  Sharp melting point

(C) Isotropic in nature

(D) More than one of the above

(E) None ofthe above

13/HV/M-2024-15/HS-515-E
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ferromagnetic?

(A) O

(C) CrO

2

(D) More than one of the above

(E) None ofthe above
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77. Forachemical reaction with rise in temperature 80.

by 10°, the rate constant is nearly

(A)
(B)
©
(D)
(E)

Half

Double

Zero

More than one of the above

None of the above

78. The substance which reduces the rate of

reaction is
81.
(A) Inhibitor
(B) Catalyst"
(C) Collision frequency
(D) More than one of the above
(E) None ofthe above
79. Which of the following statements is false?
(A) Mathematical representation of rate of 82.
areaction is given by rate law
(B) Rate constant is the proportionality
factor in the rate law
(C) Molecularity can be zero or an integer
(D) More than one of the above
(E) None ofthe above
13/HV/M-2024-15/HS-515-E 24
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The rate of a reaction was found to be equal
to its rate constant at any concentration of
the reactant. The order of the reaction is

(A) Firstorder

(B) Zero order

(C) Second order

(D) More than one of the above

(E) None ofthe above

Which of'the following is an example of solid
solutions?

(A) Camphor innitrogen gas
(B) Oxygen dissolved in water
(C) Hydrogen in palladium

(D) More than one of the above

(E) None ofthe above

The molarity of a solution containing 5 g of

NaOH in 450 mL solution is
A) 0278M

B) 0378M

(C) 0478 M~

(D) More than one of the above
(E) None ofthe above
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83. Isotonic solutions have same 86.

(A) Osmotic pressure

(B) Lowering of vapour pressure
(C) Depression of freezing point
(D) More than one of the above

(E) None ofthe above

84. Which of the following oxides is/are

amphoteric? 87.
(A) SnO,

(B) CaO

(C©) ALQ,

(D) More than one of the above

(E) None ofthe above

85. Which of'the following is incorrect order of

property as indicated? 88.

(A) Na<Al<Si<Mg: lonisation enthalpy
(B) I<Br<CI<F : Electron affinity

(C) Na'<F<0O*<Ne:Atomic size

(D) More than one of the above

(E) None ofthe above
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Which of the following parameters can not
be estimated by Born-Haber cycle?

(A) Hydration energy

(B) Lattice energy

(C) Electronegativity

(D) More than one of the above

(E) None ofthe above

The hydration energy of Mg** ion is less than
that of

(A) AP
(B) Ba*
(C) Na*

(D) More than one of the above

(E) None ofthe above

Which one of the following is/are molecular
solid

(A) Silica

(B) Calcium fluoride

(C) Methane

(D) More than one of the above

(E) None ofthe above


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

83.

84.

8S.

13/HV/M-2024-15/HS-515-E

= |V

FEN o= & e g @ 86.

(A) e

(B)  =Ted el St 3T
(C) fewrs = st

(D) Iwdem i & T @ aiftrn

(E) 3o @

FreaferReaa # & = /@ siioaTss Sy 8/ ?
87.
(A) Fm srierse

(B) Hicyrm stiease
(C) ucgHi=w TEe
(D) 37 & 4 T @ wAfereh

(E) 3o o & g T

Freaferfea & | =i |1 7uT % 31TER 70T S Terd
FR?
(A) Na<Al<Si<Mg : 3TE-teRuT TSedt
(B) I<Br<CI<F : geieriql se[a
(C) Na'<F<0O><Ne : U] 3THR
SUgE § © U W Al

Iuger | A IS T8

(D)
(E)

27

88.

GET IT ON
Google Play

A - sk g Feferfaa § @ fea duedfier =t
T FerenT ST ERaT 22

(A)
(B)
©)
(D)
(E)

TR T
T
Forrgieiadt

T it A v A T

Suger 4 B g T

Mg?" A & T Jialt SHE W gl

(A)
(B)
©
(D)
(E)

AP
Ba?
Na*
S it A T o

Iuger | | IS T8

Frfeitaa # & FA @1/@ st s 8/8 2

(A)
(B)
©
(D)
(E)

ferforam
ey werTEe

o

S A T A i

Iuger | A IS TE

[=]4 =]
i [P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

89. Among the following oxides, which has the 92. Which of the following molecules show

maximum lattice energy? metamerism?
(A) CaO @) CH,O
(B) MgO B) CH,
(C) BaO © GHO

(D) More than one of the above
(D) More than one of the above

(E) None ofthe above
(E) None ofthe above

93. The structure of the noble gas compound
90. Which ofthe following solvents has the lowest XeF, is

: . . 0
freezing point depression constant? (A) Square planar

(A)  Cyclohexane (B) Distorted octahedral

(B) Ethanol (C) Tetrahedral

(C) Benzene (D) More than one of the above
(D) More than one of the above (E)  None ofthe above

(E) None ofthe above

94. Ammonia forms complex [Cu(NH,),]*
with copper ions in alkaline solution but not

in acidic solution. The reason is
91. The value of van’t Hoff factor approaches 4

for the following strong electrolytes as the (A) Inanacidic solution hydration protects

solution becomes very dilute Cu*"ions

(A) KCI (B) In acidic solution protons are
coordinated with ammonia molecules

(B) NaCl forming NH*" ions

(C) MgSO, (C) Copper hydroxide is amphoteric
substance

(D) More than one of the above (D) More than one of the above

(E) None ofthe above (E) None ofthe above

(=] 5w
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95. Identify the incorrect statements about potash 98. A [M(H,0)J** complex typically absorbs at

alum around 600 nm. On treatment with ammonia,
it forms a new complex [M(NH,),]** which
(A) Itsaqueous solution gives test of three should have absorption at
types ofions.
(A) 800nm
(B) Itsaqueous solution is acidic in nature.
(B) 580nm
(C) Its constituent ions loose their identity
in aqueous solution. (C) 620nm
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

96. Which of the following statements about 99. Which complex is likely to show optical

metal carbonyls, M(CO),, is false? activity?
(A) CO acts as a Lewis base and Lewis (A) cis-[Co(NH,),(en),]
acid

(B) trans-[Co(NH,),CL]"
(B) Metal acts as Lewis base and Lewis

acid (C) [Cr(H,0) ]
(C) pn-prnback bonding takes place (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None ofthe above

100. Complex [Cr(NH,),(NO,),]Cl can show

97. TUPAC name of H,[PtCI ] is (A) lonisation isomerism
(A) Hydrogen hexachloroplatinic (IV) acid (B) Linkage isomerism
(B) Dihydrogen hexachloroplatinate (IV) (C) Optical isomerism
(C) Hexachloroplatinic (IV) acid (D) More than one of the above
(D) More than one of the above (E) None ofthe above

(E) None ofthe above

(=] 5w
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Thermite is a mixture of

(A) Fepowderand Al O,

(B) Alpowderand Fe,O,

(C) Znpowderand Cr,0,

(D) More than one of the above

(E) None ofthe above

Which of the following is not an ore of
magnesium?

(A)  Gypsum

(B) Magnesite

(C) Dolomite

(D) More than one of the above

(E) None ofthe above

Which of the following metal(s) is/are
commercially extracted by self-reduction
method from their corresponding ore?

(A) Cu
B) Pb
(C) Fe

(D) More than one of the above

(E) None ofthe above
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The smelting of iron in a blast furnace
involves the following processes:

(A) Reduction

(B) Slagformation

(C)  Sublimation

(D) More than one of the above

(E) None ofthe above

Which of the following is sparingly soluble in
cold water and fairly soluble in hot water?

(A) PbCl

(B) PbSO,

(C) Pb(NO,),

(D) More than one of the above

(E) None ofthe above

Among the carbonates of alkali metals which
one has the highest thermal stability?

(A) Cs,CO,
B) K,CO,
(C) Na,CO,

(D) More than one of the above

(E) None ofthe above
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107. Potassium when heated strongly in oxygen, it 110. A metal is burnt in air and the ash on
forms moistening smells of NH,. The metal is
@A) K,0 (A) Na
(B) KO, B) Mg
© K0, (C) Fe
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

111. Examples of igneous and sedimentary rocks
are
108. Which of'the following is the most important
factor in making lithium metal, the strongest (A) Granite and limestone
reducing agent?
(B) Granite and sandstone
(A) Ionisation enthalpy
(C) Graniteand clay
(B) Hydration enthalpy
(D) More than one of the above
(C) Heat of sublimation
(E) None ofthe above
(D) More than one of the above

(E) None ofthe above
112. Nitrogen dioxide cannot be obtained by

heating
109. Which of the following alkaline earth metal (A) KNO,
hydroxides is the least soluble in water?
(B) NaNO,
(A) Be(OH),
(C) LiNO,

(B) Mg(OH),

(D) More than one of the above
(C) Ca(OH),

(E) None ofthe above
(D) More than one of the above

(E) None ofthe above
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113. Which of'the following method is used for
the purification of zirconium

(A) VanArkel

(B) Mond process

(C) Zonerefining

(D) More than one of the above

(E) None ofthe above

114. Which of the following halogen
disproportionates in water?

A F,
®) cl,
© 1,

(D) More than one of the above

(E) None ofthe above

115. Inwhich of the following cases, the order of

acidic strength is not correct?

(A) HI>HBr>HCI

(B) HIO>HBrO>HCIO,

(C) HCIO>HCIO>HCIO,

(D) More than one of the above

(E) None ofthe above
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116. The dipole moment of H O, is more than that
of H,O but H,O, is not a good solvent
because

(A) Ithasaveryhigh dielectric constant

(B) It dissociates easily and acts as an
oxidising agent

(C) TItactsasareducing agent
(D) More than one of the above

(E) None ofthe above

117. Which of the following xenon compound has
the same number of lone pairs as in **?

(A) XeO,
(B) XeF,
(C) XeF,

(D) More than one of the above

(E) None ofthe above

118. Find the incorrect statement about borax

(A) It is a useful primary standard for
titrating acids

(B) Onemole of borax contains
4 B-0O - B bonds

(C) Aqueous solution of borax can be used
as buffer

(D) More than one of the above
(E) None ofthe above
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113.

114.

115.

eY

7

Pt 35 yifigeon 35 form Freaforfiam ot
oor i foen e

(A) 3 o
(B)  wie sifskan
(C) < fegfin
(D) ol 8o & o
(E) Sudwd & =g 7

freaffea § & F @1 Feiem o 8 suade
qarg?

(A) WA
(B) =i
(C) omidm
(D) e 9w & sl

(E) 3o d & g T

Fretetitaa # & form et # st vifem 1 30
T R?

(A) HI>HBr>HCI

(B) HIO>HBrO,>HCIO,
(C) HCIO>HCIO>HCIO,
(D) Suded H A UH | iR

(E) 3o o & g T
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116. H,0, = fgya amgoi H,0 & stiers 2 wAfera
H,0, Tk 3r=s1 foretmaes 73 @ wrifn

(A)
(B)

©
(D)
(E)

117.

TErR QU (e s otfer @

Iz FAEr @ faafea @t st @ s
HATFHIERIUT TSI o &9 H h1d hldl g

T IUTTE o & H HrE hiel 8
SUgE § € U W Al
IS | g TEl

frafefaa @ @ fra SR iftes ® - % wam

TShTER! T <l BT B ?

(A)
(B)
(©
(D)
E)

XeO

4

XeF

4

XeF

2

TR o 9 T A sl
Suger 4 B g T

118. SR % aR ¥ Td HAA GG

(A)

(B)
©

(D)
E)

T TS STIATIH o foT0 Ueh SUART Stfieh
b 1o

TFFTHEAAH4B -0 -Ba=ad g

TN o T Hlet ohl I o &9 H ST
10108 ke i

Suefer H A U A T
Iuger | A IS TE

i [P.T.O.
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Which of the following oxyacid contains both
P—H and P — P bond simultaneously?

(A) H,P,0,
(B) H,P,0,
(C) H,P,0,

(D) More than one of the above
(E) None ofthe above

Calculate x + y + z for H,PO, acid, where
x is a number of lone pairs, y is a number of
o-bonds and z is a number of 7-bonds:

(A) 5
B) 13
(C) 14

(D) More than one of the above
(E) None ofthe above

Which of the following properties of halogens
increase with increasing atomic number?

(A) Ionisation enthalpy

(B) Ionicradius

(C) Enthalpy of vapourisation
(D) More than one of the above
(E) None ofthe above

Which of the following noble gas does not
form clathrate?

(A) Kr

(B) Ne

(©) Xe

(D) More than one of the above
(E) None ofthe above
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Which of the following do not have tendency
to act as ligands during complex formation?

(A) BiH,
(B) PH,
(C) AsH,

(D) More than one of the above
(E) None ofthe above

Which of the following act as an oxidising as

well as areducing agent
(A) HNO,

(B) H,0,

(©) HS

(D) More than one of the above
(E) None ofthe above

Iodine is formed when potassium iodide
reacts with

(A) ZnSO,
(B) CusO,
©) o«

(D) More than one of the above
(E) None ofthe above

Iron is rendered passive by treatment with?
(A) conc. HNO,

(B) dil. H,SO,

(C) HC

(D) More than one of the above

(E) None ofthe above
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119. Frfciitaa # & form stferdiufe 4 P-H 3R P-P 123. TrforRea H & forem Stieet FHwion o R foriis &

I S TR MU B R ? w0 H e FA Rl T T A g ?
(A) H,P0; (A) BiH,

B) H,P,0, (B) PH,

(© HP,0O( (C) AsH,

(D) IYFARATHA afom (D) Sudeadid s sl
© R ®

120. H,PO,tRrs s forx +y +z R momn e, sigi x

TRl JHI i Tk WEAT B, y o~ & Th 124. fFrafafea @ @ 9 oo & @y-ag

wEd o 2 e 6w e ST o 0 R el &
@) 5 (A) HNO,
®) 13 (B) H202
©) 14 © HS
(D) Swfer & & U & st (D) e o & T A st
(B) Sude @A T (B) Sudwda®E
121. Feiem o et o & s |1 1701 ] shHih 125. ORRmEW TS % T Ui e W TS
TG ok WA TGA 2 ? A
(A) s e (A) ZnSO,
(B)  smates frean (B) CuSO,
(C) et &t gréedt ©) «l
(D) o 9k & siferh (D) vudwa A TH @ arfer
(E) vudamila e @ (B)  vofam & & i Tl
122. gw%r@aﬁﬁaﬁmmﬁwﬁanﬁm 126. e Toam & TR Fifsma g T 2 ?
? .
A e (A) =g HNO,
® G (B) @3 H,SO,
© 4 (C) HCl
) i o (D) oo # & wh & sifiren
) T (B) Sudem ¥ 7
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127. The solubility of silver bromide in hypo 131. Cobaltsalt+KNO,+CH,COOH — yellow

solution is due to the formation of ppt. The yellow ppt is

A) AgS.O, (A) Potassium cobaltinitrite

B) [AgS,0) (B) Potassium cobaltonitrate
(©) [Ag(S,0),I" (C) Cobaltnitrate

(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

128. Mercury is the only metal which is liquid at 132. Which of the following salt will not give

0°C. This is due to its positive brown ring test?
(A) Very high ionisation enthalpy and (A) Cu(NO,),
weak metallic bond (B) Pb(NO,)
372
(B) Low ionisation energy (C) Zn(NO,),
(C)  High vapour pressure (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None ofthe above

133. Which of the following reactions is Wurtz

129. Which of the following metal nitrate produces reaction?
gaseous product when reacts with KCN
solution? (A) CH,+H,/Pd-— CH,
(A) Cu(NO,), (B) 2CH,Br + 2Na/ether- — C H_+
(B) A gNO3 2NaBr
(C) Cd(NO,) (C€) CH,CI+H,/Zn—— CH,+HCI
372
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

130. Which of the following compound does not

. . . 134. In which C—-C bond of CH,CH.CH Br, the
liberate oxygen gas on warming with conc. 3T

H,SO,? inductive effect is expected to be the least?
(A) SO, @A) C -C,

(B) PbO, B C,-C,

(©) MnO, (©) C,-C,

(D) More than one of the above (D) More than one of the above

(E)  None ofthe above (E) None ofthe above

(=] 5w
13/HV/M-2024-15/HS-515-E 40 &
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127. 23w 9 | e siHige St et ek 131. wamee @ee + KNO, + CH,COOH — dien

T % RO 22 g&rg| dien uaa 3
(A) AgS,0, (A) drfiem warfeeeEe
B) [AgS,0)1 (B) uRfrm wERREE
(©) [Ag(S,0),]" (C) e e
(D) <ude A T A Al (D) vudwa A v A s
(E) 3udead @& (E) sudeada = ad
128. ORI CHATI TR MG R A O°C RGA FRMATR 132, foeaferRaa § & i |1 ora01 Fehrrensh 53 R
R wteror T M ?
(A) g 32 i Tl R F (4) Cu(NOy),
sfeeren sert

(B) Pb(NO,),

(B) = S 3 ©) Zn(NO,),

© s (D) s & T st
(D) <ude ¥ & T A Al (E) Sudeadid s =
(B)  uder # & g e

133. fferfaa 4 @ % o wfafsran ads ufafran 2 2

129. KCN foreram o e ufdfshan s W FefeRaa (A) CH,+H/Pd > CH,

H A W | 41 Ao A 301G I Tl 8 7

(A) Cu(NO,), (B) 2CH,Br + 2Na/3ai— — C,H, +
2NaBr

(B) AgNO,

(C) CH,Cl+H,/Zn-—> CH,+HCI

(C) Cd(NO,),
(D) SudwdH 4 T | It

(D) ST 4 U @ wAferch

¢ . ﬁ .
(E) sodad & g (E) Sudead | g T
130. frafaReaa # @ = w e wign H,S0, % 134. ;}éCHZCng%mC-Cmﬁﬁwm
T T A TR TR T Yok e et 2| HHEH H TG R
(A) SO, (A) C,-C,
(B) PbO, B) C,-C,
(€) MnO, ©) C, -C,
(D) Suge WA TH A s (D) Iuge & A U A R
B TemAAm ® wwwmia
E5E
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135. Hyperconjugation is possible in 139. Among the following, which one is/are
(A) Alkanes ambidentate nucleophiles
(B) Alkenes (A) Cyanideion

(B) Nitriteion

(C) Hydroxylion

(D) More than one of the above
(E) None ofthe above

(C) Ethyl cation
(D) More than one of the above
(E) None ofthe above

136. Calculate the number of sigma and pi bonds
in 2,8-dimethyl-3,6-decadiene 140. Which one is the most reactive species in

S, 1 reaction

(A) (CH,),CBr

(B) CH,CH,CHBrCH,

(©) (CH,),CHCH,Br

(D) More than one of the above
(E) None ofthe above

(A) 33 sigmaand 2 pi bonds
(B) 22 sigmaand 2 pibonds
(C) 11 sigmaand?2 pibonds
(D) More than one of the above
(E) None ofthe above

137. Which of the following compounds will

Show cis-trans isomerism? 141. Although chlorine is an electron withdrawing

(A) (CH,),C=CH-CH,

group, yet it is ortho-, para- directing. The

reason is
B) CH,CH=CH-CH, (A) Inductive effect
(C) CH,CH=CCICH, (B) Resonance effect
(D) More than one of the above (C) Mesomeric effect
(E) None ofthe above (D) More than one of the above

(E) None ofthe above
138. Which of the following groups is/are meta-

directing group 142. Which of the following compounds possesses
(A) —OH high boiling point?

(B) —-NO, (A) Methanol

(C) —-CHO (B) Ethanol

(D) More than one of the above (C) Propan-l-ol

(E) None ofthe above (D) More than one of the above

(E) None ofthe above

(=] 5w
13/HV/M-2024-15/HS-515-E 42 =
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135. ETEURR—IvE €9a
(A) swwd
(B) hH
(C) 3z M
(D) Sudera & @ wh @ afrs
(B) Sudwd @ = 7

136. 2, 3-sEfhened-3, 6-SwEH | famm 3t utg =i
hY TTAT <hl AT R

(A) 33 fomm sin 2 wd wie
B) 22 ferom i 2 wré ae
(©) 11 fermm siv 2 wré e
(D) s & v & ot
(E) Suder® & whig &

137. FrafeiRam o & wm wn Hiftes da -2 srgamisn
femmom?

(A) (CH,),C=CH-C H,
(B) C,H.CH=CH-CH,
(C) CH,CH=CCICH,
(D) s 8o @ ol
(E)  Sodem & & g T

138. freaferRaa & o= & awg de ey o 3/
(A) -OH
(B) -NO,
(C) -CHO
(D) e it & v @ o
(B) Sudwadd e
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Fraforiaa ® 9 s -w/@ swaeg Ffeaaresa
22

(A)  |EEE S

(B) rEgrSe s

(C) gl s

(D) o i 2 v B o
(E) 3udead @ T&

S, | wifciforan & vt siferes wfaforansiict st st
e

(A) (CH,),CBr

(B) CH,CH,CHBrCH,
(C) (CH,),CHCHBr
(D) oo 9 o & sl
()  weier o & g 7

TS FAR Teh FeiargiA TS g 8, T it =g
ST, PSR | THROT 3

(A) IRfvTR gwE

(B) FIRIWE

(C) vwmfes T

(D) SudwaH A UH A ik
(B) S a e

Freafier 1 o SR o1 o 3 B 2
(A) et

(B) 3ot

(C) wm-1-stw

(D) s & v & ot

(E) 3udead @&
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143. Which of'the following is non-aromatic based 147. The correct order of basicity of aliphatic
on Huckel’s rule amines are?
(A) Naphthalene (A) Primary>secondary>tertiary
(B) Anthracene (B) Secondary> tertiary>primary
(C) Phenanthrene (C) Tertiary>secondary>primary
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above
144. Among the following, which one is the correct 148. Essential amino acids which can not be
increasing order of acid strength? synthesized by our body are
(A) Propan- l-ol<4-methylphenol<phenol (A) Tyrosine
(B) 4-Methylphenol<phenol<propan-1-ol (B) Tryptophan
(C) Phenol<propan-1-ol<4-methylphenol (C) Histidine
(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None ofthe above

145. Aldehydes are easily oxidised to carboxylic 149. Which of the following vitamins are fat

acids by mild oxidising reagents : soluble?

(A) Tollens’reagent (A) VitaminA

(B) Fehling’s reagent (B) VitaminD

(C) Grignard reagent (C) VitaminC

(D) More than one of the above (D) More than one of the above
(E) None ofthe above (E) None of the above

146. Which of the following statements is incorrect? 150. Which of the following polymers is

(A) Lower aliphatic amines are soluble in biodegradable?
water (A) Buna-N
(B) Higher amines are essentially insoluble (B) Buna-S
In water (C) Nylon 2-nylon-6

(C) Amines are more polar than alcohols (D) More than one of the above

(D) More than one of the above
(E) None ofthe above

(E) None ofthe above
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143. et & Fam & snam W FafeilRea # @ s 147. ufcrthfeen THTEA <Al &IRehal ot O SHH SRR ?
AT & (A) et > weafies > qdtas

> - (B) weafivs > g > et
» . (C) qefres > weafies > mafirs
o (D) 3Iuded @ A Uk @ Jifern
(D) Sudea H A Uk A NferR & I
(E) Suderd A g & i
144, Freforian & & s vife @ aga gan oa 148. mwﬁmﬁmﬁmmﬁaﬁ
HAAR?
(A) A-1-shua<d4-Frerserra<tee (A) erEfRm
(B) A4-Trerzerber<Reer<sitm- | -sie B) feate
(C) FFA<sitn-1-sia<4-frengetria (C) fRfesm
(D) Sude A A U A atferk (D) Swge H | U A AAfern
(B) Sugwa & (B) Suger # & hig &
145. ufeegise Tk sttt vl g ot 149, Freaforfera o @ i an forerfem o g 2 7
T HISEFATCTER TR H SRS 8l 9ITd &: ) f .
(A) eicia rfirrdes ® 4
(B) Wgfem s atfrertien © @
(© . (D) SudedH A UF A iR
D) Wéﬁ@ﬁaﬁm g ' A
(E) suger & whis T8
150. Fe=feRaa # @ A a1 gifet R TRifSieTe g ?
146. TrfcTiaa H & - |1 U T ¢ ?
, . (A) Fm-w
(A) T TfcTthieeh UHiH Ut ® Go-9iied aidt ¢ B
(B) 3= Ui e w9 @ Uit # srgervie ) ]
g (C) e 2- -6
(C) Wi Yeehigiet St gorn # aifires e 2 3 (D) Sued & @ U A AR
(D) Sudewa® AU A sifern (E) Suderdi & g &

(B)  3wder o & g T
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& ST{IgaR 1 STIHATR
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WIYT, A ATE 3R TEEE IS

(20w )

gl % IR 37 W UgA 9 for@ argavh wi g | ug |
WETIYUT 3T

1. =g uwa-yftaest @7 wmi ® fawfa @ - wm-|, wm-11 w@ am-111, wm-| & s (adan) & wea €, - ®
AT ATATT & U9 § aen wr-||| § @ o\ & ued ¥

2. 9r-|, wrer (erar) € wvw wea 1@ 30 9% ued )| ww-| # sl wmer § wow sewm E-1 @ E-8 aw (| &
fom wmm), fedt W @ wom e H-9 & H-30 @, 3¢ Wt & woat s U-9 & U-30 @ aen aiven Wit |
uva wea B-9 @ B-30 @ § (erwaefi @t @i wwiat # @ Reeh w W & e g4 €)1 W= | § www wean 318 70
aen ww-1 || ® wga @@ 71 | 150 @ ) (wwr-1| qen wm-l 1| § uva ok e S sish va &t ® giga ¥)

3. @ gwAl w1 siw wEE 2|

4. Al &% IW 3| & foU U S umw uva gfeaewt & et femn mn 21 oA sw e & fwifa wum § s
FFAiE @ 1@ geag &1 aur a=w fyam sava fd sy T SWR wEe wiwnr g WA

5. oiian oW g@d @ onu vt wya-qftaewt wd e ST gfeawt @ A w1 W W R y-yfeawt & sw
Tl o qfgm guen @ sw yfeawt W qfga goen wwm 31 o 9 o wiw & 6 gfees § w w0 @ g
3t 98l (4B ®. 46 atv 47) wfga q¥ 48 qfgm gz T «tv %19 wva a1 yz fam swr gan @ wer gan
Tn QA qrEr gan a1 vy Yfeawt vd s qitewt 9 qfga sfuen d oem @t adf ) gfeaw wE W sw
gftawt # frdt o N gfe TR R TETE WEF agR FH guen 1 gEH q@ gfeawr /@ &)

6. 3@ Uz F IW fFuifm = A sum sEwAiw sEva fod | awa-gfeast w sk $3 7 foE)

7. 9% U & 9 W - (A), (B), (C), (D) it (E) %5 W &3 ™ )| 379 @ v we@ ULl HAA Th ST F YA A
TR 3T U W 3ifRa HI| STURT FA UTHIH MUk FHT IR U=k A 3ifeha wdt 3w W fasfx )

8. ITWEEHATIEH TR G AN E R - A), (B), (©), (D) R (E) 17w % 3w 3 % forg s
AU UHG T HEA Th I kI HIel/Helt T F SiA-uise 94 | fafEa w21 ge@w uvh & o Fae s s W@
T 3 IV U IR U # Fafga H) o9 SR U | afg v uva & fore v @ sifes g | fom o €, @ stueet
IR AT AET AR I 99E # IR B e F0 & fou daw s/l @l & aia-dize 97 w1 @
yain &I fedt Wt aER ®1 FE-FH2 Agar yREdd arw T@fl )

9. =fe foreht wya @ frell wwm Y F1E ggur 1 qeATeESd TR A IR @, @ vl S qun R wura | @ sinsh
FUTR 1 AFS AET JET |

10. wyA-yftaet | Hig U= WIS AT AT HIAT 7T 2| TT-GfEaaht 31X 3T u=eh i qlien srafar # udien wa= | argt way
T @ W wlign & AEGE W IW U9F AYE w1 Aq W9 d| SHF 918 AU HUA UvA-giEaswn swa e @
W & argafa 21

11. W argev # 9 Rt v &1 off urem 78 R W Smu W e & fRwHar wiarg £ S awdt @ steen sue gus
fa=n w1 " )

12,  sreeff 3w uaek i arut sufeufa # Self Adhesive LDPE Bag ® gft @t @ O /Hiet %@ & 3udia & udlen wa
& BIS|

515 Note : English version of the instructionsis printed on the First Page of this Booklet.
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